i Year 6 Place Value

REAch?

Key Vocabulary Representing 7-digit Numbers
represenT three million, four hundred and sixty-twe thousand, three hundred and fifty-one
numerals 3462351
mu“-iples One Million Tl;::::::s TME::MS Thousands | Hundreds Tens Crnes Roundi ng I
Roman Numerals 3 4 6 2 3 5 1 When rounding you need to look at the place value column to
rounding the right of the number you are rounding to.
One Million ThHund:: . T:nnd Thousands | Hundreds Tens Ones Ifitis4 or below you round Mﬂ, 5 or above you round up.
more than > Ur-Y
O OO k/_gi_j\ o Q0 -Gl [ Rounding to the nearest 10
less than (fewer) < Se oo kd'\/l O o i 30 &— 33 35 — 40
bt round down round up
ones
tens 3462351 Rounding to the nearest 1000
hundreds \-
soo0000” o~/ 1 NN 3000 «— 3499 3500— 4000
thousands 400000 60000 2000 round down round up
ten thousand ( Rounding to the nearest 100000 )
one hundred / Counting in Powers of Ten \ 100000 ¢=—— 149999 150000 ==+ 200000
d
thousand 1000s | \_ round down roundup )
million 27231 28231 29231 30231 g Rounding to the nearest 1000000
ten million 10000s 5000000 4¢— 5499999 5500000+ 6000000
place value 489921 499921 509921 519921 \- round up y
-~ 100000s
digit
ascending 6856712 6956712 7056712 7156712
descending Remember to be careful when ,-2‘
counting in powers of ten. After 9 it
p?wers of changes to O and the column to the
integer K left increases by 1. J




Comparing Numbers

more than

5479122 > 5269345

When comparing these numbers, the millions are the same so we look at the
hundred thousands. 4 hundred thousand is mere than2 hundred thousand
505479122 <« 5269345

less than
22334 < 23251

[

When comparing these numbers, the ten thousands are the same so we lock at
the thousands. 2 theusand is le=s than 3 thousand so 22334 <« 23251.

r®

Equal to
. N
10+12 =44+ 2 Both calculations have = #=%
the same value so - ’g
BExB=100 -756 there is an = between "
Q&m. j

4 A

Ordering Numbers

9879 | 91577 | 94635 |119698 128676

[The. numbers above are in ascendl'ngor‘de.r.} ';'E

p 2
\

Descending order means from largest to smallest.
Ascending order means from smallest o largest.
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Negative Numbers

4-8-=--4 Partitioning 8 here into 4
/\ and 4 allows you to easily r!\
4 bridge zero.
-4 -4
098 74635 4321012 34526 781910
N N N N N N N I I I A A
-5+12 =7 Partitioning 12 into 5 and
/ \ 7 allows you to easily f!"l
h 7 bridge zero.
+5 +7
| 1
0498 74 5 43 21012 3 4 5 6 7 819 10
N S I N (A N




